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$YWRU� Y� SULVSHYNX� REUDYQDYD� JRVSRGDUVNR� SROLWLNR� Y� -XOLMVNL� NUDMLQL�� LQ� VLFHU� Y

REGREMX�MXJRVORYDQVNH�]DVHGEH�RE�NRQFX�GUXJH�VYHWRYQH�YRMQH��Y�aDVX�GHOLWYH�QD�&RQL
$� LQ�%�-XOLMVNH�NUDMLQH� WHU�&RQL�$� LQ�%�6YRERGQHJD� WUCD^NHJD�R]HPOMD��3ULND]DQR� MH�
NDNR� VR� UD]PHMLWYH� WHU� SROLWLaQL� LQ� LGHROR^NL� NRQIOLNWL� YSOLYDOL� QD� QHNGDM� HQRWHQ
JRVSRGDUVNL� SURVWRU�� $YWRU� REUDYQDYD� WXGL� JRVSRGDUVNR� SROLWLNR� YSOHWHQLK� VWUDQL� Y
GHVHWOHWMX� SR� GUXJL� VYHWRYQL� YRMQL�� ]DYH]QL^NH� YRMD^NH� XSUDYH�� 6ORYHQFHY� �-XJR�
VORYDQRY��LQ�,WDOLMDQRY��3R�UH^LWYL�PHMQHJD�YSUD^DQMD�OHWD������VH�MH�PHMD�PHG�,WDOLMR
LQ�-XJRVODYLMR�SRVWRSRPD�RGSLUDOD�LQ�SRVWDOD�QDMEROM�RGSUWD�PHMD�PHG�VRFLDOLVWLaQLPL
LQ� NDSLWDOLVWLaQLPL� GUCDYDPL� Y�(YURSL��'REUR� MH� ELOR� WXGL� JRVSRGDUVNR� VRGHORYDQMH�
.OMXE�WHPX�SD�VH�MH�QHNGDQML�VNXSQL�JRVSRGDUVNL�SURVWRU�REQRYLO�OH�GHORPD�

0HMH�XVRGQR�GRORaDMR� CLYOMHQMH� OMXGL�� ]DUDGL� QMLK� ODKNR� FHOH� SRNUDMLQH� Y]FYHWLMR
DOL�RVLURPD^LMR��7UVW�V�VYRMLP�YHaLQVNR�VORYHQVNLP�]DOHGMHP�MH�WR�REaXWLO�CH�SR�SUYL
VYHWRYQL� YRMQL�� 1MHJRY� JRVSRGDUVNL� Y]SRQ� MH� L]KDMDO� L]� GDQRVWL� VUHGQMHHYURSVNHJD
JRVSRGDUVNHJD�SURVWRUD��V�NDWHULPL�JD� MH�SRYH]DOD�-XCQD�CHOH]QLFD��.R� MH� WR�]DOHGMH
L]JXELO�� MH� ]DaHO� JRVSRGDUVNR� XSDGDWL�� ]� QMLP� SD� WXGL� ^LU^D� RNROLFD�� 6ORYHQVNL� JRV�
SRGDUVWYHQLNL� LQ� SROLWLNL� VL� RE� NRQFX� SUYH� VYHWRYQH� YRMQH� ]DRNURCHQHJD� QDURGQHJD
JRVSRGDUVWYD� EUH]� 7UVWD� LQ� 3ULPRUVNH� VSORK� QLVR� ]QDOL� SUHGVWDYOMDWL�� 'HMDQVNR� MH
L]JXED�7UVWD�]D�VORYHQVNR�JRVSRGDUVWYR��]ODVWL�SD�]D�LQGXVWULMR��NL�VH�MH�NRPDM�GREUR
]DaHOD� UD]YLMDWL�� REHQHP� SD� QDYDMDWL� QD� SRYVHP� QRYH� HNRQRPVNH� UD]PHUH� Y
QRYRQDVWDOL�'UCDYL�6+6��SRPHQLOD�YHOLNR�L]JXER��GRGDWQR�MH�WUHED�XSR^WHYDWL��GD� MH
WXGL� 5HNR� NRW� GUXJR� 6ORYHQLML� QDMEOLCMH� SULVWDQL^aH� GRELOD� ,WDOLMD��� %UH]� L]KRGD� QD
PRUMH� WXGL� Y� PQRJR� XJRGQHM^LK� SRJRMLK�� NRW� VR� ELOL� Y� aDVX� PHG� REHPD� YRMQDPD
VORYHQVNR� JRVSRGDUVWYR� �� JOHGDQR� GROJRURaQR� �� QH� EL� PRJOR� Y]SRVWDYLWL� GRYROM
VROLGQH�RVQRYH�]D�QDURGQR�SUHCLYHWMH�

(QDND� GLOHPD� VH� MH� 6ORYHQFHP� SRVWDYOMDOD� RE� NRQFX� GUXJH� VYHWRYQH� YRMQH�
(NRQRPVNR�YSUD^DQMH� MH�ELOR�Y�SUYL�YUVWL� RGYLVQR�RG�GLSORPDWVNLK�RGORaLWHY�R� UD]�
PHMLWYL�� ]DWR� HQDNR� NRW� SUL� SROLWLaQHP� GRJDMDQMX� WXGL� QD� JRVSRGDUVNHP� SRGURaMX
ODKNR� Y� RVQRYL� UD]EHUHPR� WUL� SROLWLNH�� LWDOLMDQVNR�� VORYHQVNR� R]�� MXJRVORYDQVNR� LQ
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]DYH]QL^NR�� LQ� WUL� JODYQD� aDVRYQD� REGREMD� ��3UYR� MH� REGREMH� WLN� RE� NRQFX� YRMQH� GR
UD]PHMLWYH�QD�FRQR�$�-XOLMVNH�NUDMLQH�LQ�&RQR�%�-XOLMVNH�NUDMLQH��'UXJR�MH�REGREMH�RG
]DaHWND�WH�UD]GHOLWYH��RG�EHRJUDMVNHJD�VSRUD]XPD��SRGSLVDQHJD�PDMD��R]��GHYLQVNHJD
VSRUD]XPD�� SRGSLVDQHJD� MXQLMD� ������ GR� XYHOMDYLWYH� SDUL^NH� PLURYQH� SRJRGEH
�VHSWHPEHU��������7UHWMH�MH�REGREMH�RG�XYHOMDYLWYH�SDUL^NH�PLURYQH�SRJRGEH�LQ�V�WHP
XVWDQRYLWYH�&RQH�$� 6YRERGQHJD� WUCD^NHJD� R]HPOMD� �672�� LQ� &RQH� %� 6YRERGQHJD
WUCD^NHJD�R]HPOMD�GR�SRGSLVD�VSRPHQLFH�R�VRJODVMX�RNWREUD������Y�/RQGRQX��3R�WHP
REGREMX�VWD� ,WDOLMD� LQ�-XJRVODYLMD�YVDND�QD�VYRML�VWUDQL�XVPHUMDOL�HNRQRPVNR�SROLWLNR
SDa�Y�VNODGX�V�VYRMLPL�LQWHUHVL�LQ�YL]LMDPL��=�ELODWHUDOQLPL�SRJRGEDPL��SROHJ�PHGQD�
URGQLK��NRW�VWD�PLURYQD�SRJRGED� LQ�VSRPHQLFD�R�VRJODVMX��SD�VWD�SRVWRSRPD� UH^HYDOL
QHUH^HQD�HNRQRPVND�YSUD^DQMD��NL�VR�]DGHYDOD�REH�VWUDQL� �QHNDWHUL�VSRUD]XPL�VR�ELOL
VLFHU�VNOHQMHQL�^H�SUHG�OHWRP��������7DNR�MH�ELOR�QSU��YSUD^DQMH�SUHPRCHQMD�RVHE��NL�VR
VH�L]VHOLOH�L]�&RQH�%�-XOLMVNH�NUDMLQH�QD�LWDOLMDQVNR�VWUDQ��R�WHP�MH�ELOR�RG�OHWD������GR
�����VNOHQMHQLK�YHa�VSOR^QLK� LQ�VHGHP�SRVHEQLK�VSRUD]XPRY���YUDaDQMH�SUHPRCHQMD�
NL� JD� MH� ,WDOLMD� RGQHVOD� ]� R]HPOMD� -XJRVODYLMH� LQ� 672� SR� ��� ��� ������ SODaLOR� QDFLR�
QDOL]LUDQHJD�SUHPRCHQMD��YSUD^DQMH�YUDaDQMD�SUHPRCHQMD�VORYHQVNL�PDQM^LQL��NL�JD� MH
L]JXELOD�Y�aDVX�PHG�REHPD�YRMQDPD��LQ�^H�QHNDWHUD�GUXJD�YSUD^DQMD��*RPEDa��������

6NODGQR�]�UH^HYDQMHP�HNRQRPVNLK�LQ�SROLWLaQLK�YSUD^DQM�PHG�REHPD�GUCDYDPD�VH
MH� SRVWRSRPD� RGSLUDOD� WXGL� PHMD�� #H� SRGSLV� VSRUD]XPD� R� REPHMQHP� SURPHWX� OHWD
����� �9LGHPVNL� VSRUD]XP�� MH� VSRGEXGLO� SUHWRN� OMXGL�� EODJD� LQ� LGHM� QD� UHJLRQDOQL
UDYQL�� 2VLPVNLK� VSRUD]XPL�� VNOHQMHQL� GYH� GHVHWOHWML� NDVQHMH� �������� SD� VR� MXJRVOR�
YDQVNR��� LWDOLMDQVNR�PHMR�QDUHGLOL�]D�QDMEROM�RGSUWR�PHMR�PHG�NDNR�VRFLDOLVWLaQR� LQ
NDSLWDOLVWLaQR�GUCDYR�Y�(YURSL��

9�SUYHP�REGREMX��NR�MH�7UVW�LQ�YHOLN�GHO�-XOLMVNH�NUDMLQH�]DVHGDOD�MXJRVORYDQVND
YRMVND�WHU�VR�REODVW�SUHY]HOL�RUJDQL�QDURGQH�REODVWL��R�QDaUWQHM^L�JRVSRGDUVNL�SROLWLNL
QH�PRUHPR�JRYRULWL��3R�RVYRERGLWYL�7UVWD�LQ�-XOLMVNH�NUDMLQH�VR�RUJDQL�RVYRERGLOQLK
VLO�Y�YDCQHM^D�LQGXVWULMVND�SRGMHWMD�SRVWDYLOL�VYRMH�GHOHJDWH��PHG�MXJRVORYDQVNR�YODGR
LQ�SRVDPH]QLPL�SRGMHWML�SD�VR�ELOH�VNOHQMHQH�SRJRGEH��3UHY]HOL�VR�WXGL�SRPRUVNR�LQ
SULVWDQL^NR�XSUDYR�YNOMXaQR�]�OX^NR�NDSHWDQLMR��3UHVNUER�MH�YRGLO�RGVHN�]D� WUJRYLQR
LQ�SUHVNUER�SUL�3RNUDMLQVNHP�QDURGQRRVYRERGLOQHP�RGERUX�]D�6ORYHQVNR�SULPRUMH�LQ
7UVW��3122���3RSLVDOL�VR�CLYHC��GHO�]DORJ�SUHSXVWLOL�WUCD^NL�SURYLQFL��GHO�SD�SRVODOL�Y
*RULFR�� 5HNR�� 3XOR� LQ� /MXEOMDQR�� 9� LWDOLMDQVND� SUHKUDPEHQD� SRGMHWMD� VR� SUDY� WDNR
SRVWDYLOL�GHOHJDWH��NL�QDM�EL�WDP�RVWDOL��GRNOHU�VH�VWDWXV�WHK�SRGMHWLM�GRNRQaQR�QH�UH^L�
1D� ILQDQaQHP� SRGURaMX� MH� ELOD� XVWDQRYOMHQD� SRGUXCQLFD�'HQDUQHJD� ]DYRGD� ]D� 6OR�
YHQLMR� Y� 7UVWX�� REVWRMHaH� ILQDQaQH� LQ� ILVNDOQH� RUJDQL]DFLMH� VR� WXGL� GRELOH� GHOHJDWH
3122��3URPHWQL�RGVHN�3122�MH�SUHY]HO�SUHM^QMH�LWDOLMDQVNH�SURPHWQH�XUDGH�LQ�]DaHO
QDG]RURYDWL� SURPHW�� SR^WD� MH� GRELOD� GHODJDWD� 3122�� CHOH]QLFH� SD� MH� SUHY]HOD
GHOHJDFLMD� -XJRVORYDQVNLK� GUCDYQLK� CHOH]QLF�� 3RGREHQ� SRVWRSHN� MH� YHOMDO� WXGL� ]D
GUXJH�JRVSRGDUVNH�RUJDQL]DFLMH��XUDGL�]D�MDYQD�GHOD��]DGUXJH��NPHWLMVNL�XUDGL���5DGLR
MH�ELO�RUJDQL]LUDQ�SR�QDaHOX�GYRMH]LaQRVWL��9� VODEHP�PHVHFX� LQ�SRO�� NROLNRU� VR� VOR�
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YHQVNH�R]�� MXJRVORYDQVNH�REODVWL�NRQWUROLUDOH�R]HPOMH��NDM�YHa�NRW�VSURWQLK�XNUHSRY
]D�]DJRWRYLWHY�SUHVNUEH�LQ�SURPHWD�QLVR�XWHJQLOH�VWRULWL�

����MXOLMD������VWD�Y�UD]GHOMHQL�-XOLMVNL�NUDMLQL�]DaHOL�GHORYDWL�GYH�XSUDYL��9�FRQL�$
-XOLMVNH�NUDMLQH� MH�REODVW�SUHY]HOD� ]DYH]QL^ND�XSUDYD� �=98���NL� MH� WDNRM�XNLQLOD�YVH
GHOHJDWH�3122�LQ�WXGL�Y�JRVSRGDUVWYX�]DaHOD�XYDMDWL�VWDUR�LWDOLMDQVNR�XSUDYR���$6��,
������ ,]� SRURaLO� JRVSRGDUVNR� SROLWLaQH� NRPLVLMH� 3122� MH� UD]YLGQR�� GD� ]DYH]QL^ND
XSUDYD�Y�&RQL�$�-XOLMVNH�NUDMLQH�QL�VWRULOD�NDM�GRVWL�]D�RCLYLWHY�JRVSRGDUVWYD��,]MHPD
MH�ELOR�OH�SRSUDYLOR�SULVWDQL^NLK�QDSUDY�Y�7UVWX��NL�MLK�MH�SRWUHERYDOD�]D�VYRMH�SRWUHEH
LQ� GRYDCDQMH� SRPRaL� 8155(� LQ� GUXJLK� PHGQDURGQLK� RUJDQL]DFLM� �$6�� ,�� ������
6ORYHQVND� VWUDQ�� NL� MH� V� ILOLJUDQVNR�QDWDQaQRVWMR� VSUHPOMDOD� LQ� DQDOL]LUDOD� GHORYDQMH
]DYH]QL^NH� YRMD^NH� XSUDYH�� ML� MH� Y� ^WHYLOQLK� SRURaLOLK� LQ� aDVRSLVQLK� ]DSLVLK� RaLWDOD
YHOLNR�SRWUDWQRVW�� V�NDWHUR�GD�SUHGYVHP�Y]GUCXMH� LQ�^H�^LUL� VWDUL� LWDOLMDQVNL� DSDUDW� �Y
QMHP� VR� VHGHOL�PQRJL� ELY^L� ID^LVWLaQL� IXQNFLRQDUML��� QDPHVWR� GD� EL� LPHOD� SUHG� VDER
GROJRURaQHM^R� YL]LMR� JRVSRGDUVNHJD� UD]YRMD�� -XJRVORYDQVND� GUCDYD� MH� Y� WHP� aDVX
VNX^DOD�GRVHaL��GD�EL�7UVW�SRVWDO� VYRERGQR�SULVWDQL^aH� �SREXGD� MH�SUL^OD�Y� MDYQRVW� ]
XUDGQR� L]MDYR� ORQGRQVNHJD� YHOHSRVODQL^WYD� )/5-� ���� VHSWHPEUD� ������� 3UHGORJ� VR
SRGSLUDOH� VORYHQVNH� LQ� LWDOLMDQVNH� -XJRVODYLML� QDNORQMHQH� SROLWLaQH� VLOH� Y� -XOLMVNL
NUDMLQL��NL�VR�VH�]DY]HPDOH�]D�WR��GD�EL�ELOR�^LU^H�R]HPOMH�Y�ODVWL�LQ�SRG�VXYHUHQRVWMR
)/5-�� VDPR�SULVWDQL^aH�SD�SRG�PHGQDURGQR�XSUDYR��0HGQDURGQR�XSUDYR�QDM� EL� SR
QMLKRYHP�PQHQMX�VHVWDYOMDOH�-XJRVODYLMD��^WLUMH�JODVRYL�Y�XSUDYQHP�RGERUX���AH^NR�
VORYD^ND� �WULMH� JODVRYL��� $YVWULMD� �� WULMH� JODVRYL��� 0DGCDUVND� �HQ� JODV��� 3ROMVND� �HQ
JODV��LQ�,WDOLMD��HQ�JODV����$6��,��������3UHGORJD�]DKRGQH�YHOHVLOH�L]�YUVWH�LGHROR^NLK
LQ�VWUDWH^NLK�UD]ORJRY�QLVR�SRGSUOH�

6ORYHQVND� R]�� MXJRVORYDQVND� VWUDQ� MH� VYRMR� HNRQRPVNR� SROLWLNR� Y� aDVX� REVWRMD
&RQH� $� -XOLMVNH� NUDMLQH� RVUHGRWRaLOD� QD� GRND]RYDQMH�� GD� MH� ]D� SUHCLYHWMH� 7UVWD� LQ
-XOLMVNH� NUDMLQH� QXMQD� aLP� WHVQHM^D� SRYH]DYD� V� VUHGQMHHYURSVNLP� ]DOHGMHP�� ]ODVWL
MXJRVORYDQVNR� LQGXVWULMR�� NL� EL� RPRJRaLOD� RCLYLWHY� RPUWYLaHQHJD� WUCD^NHJD� JRVSR�
GDUVWYD��3UL]DGHYDOD�VL�MH�WXGL��GD�EL�-XJRVODYLMD�L]SRGULQLOD�,WDOLMR�SUL�SUHVNUERYDQMX
&RQH� $� -XOLMVNH� NUDMLQH�� 6NX^DOD� MH� SRYH]DWL� VORYHQVNH� LQ� -XJRVODYLML� QDNORQMHQH
LWDOLMDQVNH�JRVSRGDUVWYHQLNH�Y�UD]QLK�]GUXCHQMLK� LQ�]ERUQLFDK��2UJDQL]LUDOD� MH� UD]QH
DNFLMH� V� VRFLDOQLP� R]DGMHP� SURWL� SULVWUDQVNL� =DYH]QL^NL� YRMD^NL� XSUDYL�� NL� MH� IDYR�
UL]LUDOD� LWDOLMDQVNR� VWUDQ�� LQ� VNX^DOD� NUHSLWL� ^LENH� VORYHQVNH� HNRQRPVNH� SR]LFLMH�� NL
MLP�MH�NRUHQLQH�VSRGMHGHO�ID^L]HP�

,WDOLMDQVND� VWUDQ� VL� MH� QD�PHGQDURGQHP� SUL]RUL^aX� Y� GYHK� OHWLK� REVWRMD� REHK� FRQ
]ODVWL�SUL]DGHYDOD�]D�PHGQDURGQR�XWUGLWHY�VYRMLK�SR]LFLM�LQ�SRXGDUMDQMH�SRPHQD�7UVWD
LQ�-XOLMVNH�NUDMLQH�NRW�PHMQLK�EUDQLNRY�SUHG�SURGRURP�NRPXQL]PD��NDU�QDM�EL�ELO�SROHJ
�]JRGRYLQVNLK�� UD]ORJRY� JODYQL� DGXW� Y� SUHSULaHYDQMX� ]DKRGQLK� ]DYH]QLNRY�� GD� EL
R]HPOMH� PRUDOR� SULSDVWL� ,WDOLML�� ,WDOLMDQVND� YODGD� MH� PRUDOD� ILQDQFLUDWL� GHORYDQMH
=DYH]QL^NH�YRMD^NH�XSUDYH��VLFHU�SD�MH�R]HPOMH�EROM�DOL�PDQM�QDaUWQR�SXVWLOD�CLYRWDULWL�
NDU� VR� ML� RaLWDOL� WDNR� ORNDOQL� JRVSRGDUVWYHQLNL� NRW� aDVRSLVMH�� /DGMH� QHNGDQMHJD

���



$&7$�+,675,$(�9,�

%RCR�5(3(��6/29(16.$�=$+2'1$�0(-$�,1�(.21206.2�935$>$1-(���������

WUCD^NHJD� ODGMHYMD� MH�SRYHaLQL� UHJLVWULUDOD�Y�GUXJLK�SULVWDQL^aLK� WHU� VSRGEXMDOD� UD]YRM
GUXJLK� LWDOLMDQVNLK� SULVWDQL^a�� ]ODVWL�%HQHWN��*RVSRGDUVNR� REXERCDQL� 7UVW� QDM� EL� ELO
GRND]��GD�EUH]�,WDOLMH�QH�PRUH�CLYHWL��6HYHGD�MH�SUL�WHP�^OR�WXGL�]D�REMHNWLYQH�UD]ORJH�
LWDOLMDQVNL� NDSLWDO� VH� ^H� QL� RSRPRJHO� RG� YRMQH� LQ� WXGL� QL� LPHO� YHOLNHJD� LQWHUHVD� ]D
YODJDQMH�QD�R]HPOMX��NDWHUHJD�XVRGD�MH�ELOD�QHMDVQD��RGUH]DQRVW�RG�VUHGQMHHYURSVNHJD
]DOHGMD� SD� Y� aDVX� KODGQH� YRMQH� WDNR� DOL� WDNR� QL� SRQXMDOD� UHDOQH� JRVSRGDUVNH� SHU�
VSHNWLYH��7UCD^NR�JRVSRGDUVWYR� MH�ELOR�SUH]DGROCHQR��QHNGDM�PRJRaQH� WUCD^NH�EDQNH
SD� VR� NRQHF� ^WLULGHVWLK� OHW� SR� ]DYH]QL^NLK� SRURaLOLK�PHVHaQR� SRYSUHaQR� GROJRYDOH
�����PLOLMRQRY�OLU�

=DYH]QL^ND� YRMD^ND� XSUDYD� MH� R]HPOMH� FRQH� XSUDYOMDOD� SR� VWDULK� LWDOLMDQVNLK
�ID^LVWLaQLK��]DNRQLK��VYRMR�IXQNFLMR�SD�MH�YLGHOD�SUHGYVHP�Y�NURWHQMX��SOHPHQVNLK�
�NRW� VR� MLK� R]QDaHYDOL�� LQ� LGHROR^NLK� VWUDVWL�� ]DJRWDYOMDQMX� PLQLPDOQHJD� VRFLDOQHJD
PLUX�� RVQRYQL� SUHVNUEL� SUHELYDOVWYD� LQ� SUHSUHaHYDQMX� ^LUMHQMD� QDOH]OMLYLK� EROH]QL�
&RQR�$�MH�YLGHOD�NRW��GHO� LWDOLMDQVNHJD�JRVSRGDUVWYD�� LQ� MH�RPRJRaDOD��GD�REPRaMH
VRGHOXMH� WXGL� Y� LWDOLMDQVNL� PHGQDURGQL� WUJRYLQL�� 6WURJR� ILQDQaQR� NRQWUROR� SD� MH
YSHOMDOD� QD� PHMDK�0RUJDQRYH� OLQLMH� �RVHEQL� SUHKRGL� VR� ELOL� ]D� SUHELYDOFH� &RQH� %
-XOLMVNH�NUDMLQH�VLFHU�PRCQL�]JROM�]�RVHEQLPL�L]ND]QLFDPL���,]�SRURaLO��NL�MLK�MH�XSUDYD
SR^LOMDOD� YODGDPD� YHOLNH� %ULWDQLMH� LQ� ='$�� MH� UD]YLGQR�� GD� MH� ]DYH]QL^ND� YRMD^ND
XSUDYD�Y�EOLCQML�SHUVSHNWLYL�&RQR�$�-XOLMVNH�NUDMLQH�YLGHOD�NRW�GHO�,WDOLMH� LQ� MH� WHPX
XVWUH]QR�WXGL�XUDYQDYDOD�VYRMR�SROLWLNR�LQ�JRVSRGDUVNH�XNUHSH�

9�&RQL�%�-XOLMVNH�NUDMLQH�MH�REODVW�VLFHU�IRUPDOQR�SUHY]HOD�MXJRVORYDQVND�YRMD^ND
XSUDYD� �98-$���GHMDQVNR�SD� MH� CLYOMHQMH� RE� VRGHORYDQMX� ]� QMR� XUDYQDYDOR� SRYHUMH�
QL^WYR� 3122�� NL� VL� MH� SUL]DGHYDOR� RCLYLWL� JRVSRGDUVWYR� LQ� JD� aLP� EROM� SRYH]DWL� V
6ORYHQLMR� LQ� -XJRVODYLMR�� �7URKD�� ������ VWU�� ������� 3RVWRSRPD� MH� ELO� Y� FRQL� Y]SR�
VWDYOMHQ�SRVHEHQ�SUDYQL�UHG��3$�.RSHU���*RVSRGDUVNH�YH]L�V�&RQR�$�-XOLMVNH�NUDMLQH
VR�ELOH��]�L]MHPR�QDNXSRY��^LENH��=DUDGL�YHOLNHJD�RGOLYD�OLU�Y�&RQR�$�-XOLMVNH�NUDMLQH
MH� RNWREUD� �����*RVSRGDUVND� EDQND� ]D� ,VWUR�� 5HNR� LQ� 6ORYHQVNR� SULPRUMH� �,VWUVND
EDQND��L]GDOD�SRVHEHQ�GHQDU��W��L��MXJROLUR��,VWUVND�EDQND�MH�SR�QDORJX�9XMH�WXGL�VLFHU
SUHY]HOD�YVR�ILQDQaQR�LQ�NUHGLWQR�SROLWLNR���7HPX�VR�VH�XSLUDOL�]ODVWL�LWDOLMDQVNL�SRG�
MHWQLNL�� NL� VR� R]HPOMH� ^WHOL� ]D� LWDOLMDQVNR�� MXJRVORYDQVNR� XSUDYR� SD� ]D� ]DaDVQR�
2UJDQL]LUDOL�VR�VWDYNH�LQ�GHPRQVWUDFLMH��QD�SURWLVWDYNRYQHP�]ERUX�Y�.RSUX��NL�VR�JD
RUJDQL]LUDOH�VORYHQVNH�SROLWLaQH�RUJDQL]DFLMH��SD�MH�SUL^OR�GR�VSRSDGRY�LQ�CUWHY��9HaMD
LQGXVWULMVND�SRGMHWMD�Y� ODVWL� WXMLK�GUCDYOMDQRY� VR�SUL^OD�SRG� VHNYHVWHU�� SUDY� WDNR� LWD�
OLMDQVND� GUCDYQD� SRGMHWMD�� 9HQGDU� VR� ELOH� REODVWL� SUL� YSHOMHYDQMX� VHNYHVWUD� ]HOR
SUHYLGQH�LQ�VR�MLK�XWHPHOMHYDOH�QD�SRGODJL�PHGQDURGQLK�GRORaLO��3ULYDWQD�ODVWQLQD�MH
ELOD�]D^aLWHQD��Y�SRVDPLaQLK�SULPHULK�VR�GRYROLOL� UHNYL]LFLMH�SURWL�SUL]QDQLFL��GUXJLK
SRVHJRY�YDQMR�SD�QH���3$�.RSHU��9RMD^ND�XSUDYD��.RQILVNDFLMD�ID^LVWLaQH�LPRYLQH�MH
ELOD� L]YU^HQD� QD� SRGODJL� SRVHEQLK� RGORNRY�� NL� VWD� MLK� ���� VHSWUHPEUD� ����� L]GDOD
3RNUDMLQVNL� QDURGQRRVYRERGLOQL� RGERU� ]D� 6ORYHQVNR� SULPRUMH� LQ�2EODVWQL� QDURGQR�
RVYRERGLOQL� RGERU� ]D� ,VWUR�� 2GORN� MH� ELO� QDWR� GRSROQMHQ� ���� QRYHPEUD� ����� LQ� MH
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]DMHPDO� ODVWQLQR� ID^LVWRY� LQ� NRODERUDFLRQLVWRY� WHU� LPRYLQR� ID^LVWLaQLK� GUX^WHY� LQ
XVWDQRY���3$�.RSHU��9RMD^ND�XSUDYD��7D�LPRYLQD�MH�SUL^OD�Y�VNODG�]D�SRPRa�CUWYDP
ID^L]PD�� NL� MH� GHORYDO� GR� ���� PDUFD� ������ NR� VR� LPRYLQR� UD]GHOLOL� NUDMHYQLP
QDURGQLP�RGERURP��1HNDM�SRGMHWLM�MH�ELOR�IHEUXDUMD������HYDNXLUDQLK�Y�-XJRVODYLMR�
YHQGDU�VR�ELOD�SODaDQD��3$�.RSHU��9RMD^ND�XSUDYD��

7DP��NMHU�VR�^H�REVWDMDOL�NRORQDWVNL�RGQRVL��QD�.RSUVNHP���VR�MLK�REODVWL�XNLQLOH�
]HPOMR� SD� UD]GHOLOH� ELY^LP� NRORQRP� �AHSLa�� ������ ���������� /MXGVND� REODVW� MH
VNX^DOD� SRUX^HQR�JRVSRGDUVWYR� aLP�SUHM� RNUHSLWL�� Y]SRVWDYLWL� WUJRYVNR� LQ� SUHVNUER�
YDOQR� PUHCR� WHU� SURPHWQR� LQIUDVWUXNWXUR� �3HURY^HN�� ������ �������� =DUDGL� PHGQD�
URGQLK�SUDYQLK�GRORaE�SD�REODVWL�QD�VSOR^QR�GR�SDUL^NH�PLURYQH�SRJRGEH�QLVR�L]YD�
MDOH� NRQILVNDFLMH�� QDFLRQDOL]DFLMH� LQ� DJUDUQH� UHIRUPH��9HaMD� SRGMHWMD� VR� ELOD� Y� ODVWL
LWDOLMDQVNLK�GHOQL^NLK�GUXCE��7DP��NMHU� VR� VH� ODVWQLNL� DOL� XSUDYQLNL� L]VHOLOL�� MH�XSUDY�
OMDQMH�SUHY]HOD�NRPLVLMD�]D�XSUDYR�QDURGQH�LPRYLQH���.81,��NDVQHMH�VR�MLK�SUHY]HOL
JRVSRGDUVNL� RGVHNL� SUL� 3122��� NL� SD� MH� SR]LYDOD� ODVWQLNH�� QDM� VH� YUQHMR� LQ� SUHY]D�
PHMR�SRGMHWMD��3R�SDUL^NL�PLURYQL�SRJRGEL� LQ�SULNOMXaLWYL�N�-XJRVODYLML� VR�Y�&RQL�%
]DaHOL�XYDMDWL�HQDNH�XNUHSH�NRW�GUXJRG�SR�GUCDYL��WDNR�GD�VH�QDFLRQDOL]DFLMD�OHWD�����
QSU��CH�QL�YHa�UD]OLNRYDOD�RG�QDFLRQDOL]DFLMH�GUXJRG�SR�6ORYHQLML� �]� L]MHPR�SRGMHWLM�
NDWHULK� ODVWQLNL� VR� VH� RSUHGHOLOL� ]D� LWDOLMDQVNR� GUCDYOMDQVWYR� LQ� V� WHP� SUH^OL� SRG� ]D�
^aLWQD� GRORaLOD� ]D� RSWDQWH�� NL� MLK� MH� ]DJRWDYOMDOD� SDUL^ND� PLURYQD� SRJRGED�� �=D�
JUDGQLN�����������������3ULQaLa�����������

3R�XYHOMDYLWYL�SDUL^NH�PLURYQH� SRJRGEH� MH� RVWDOR� RGSUWR� YSUD^DQMH�6YRERGQHJD
WUCD^NHJD�R]HPOMD��672���9�&RQL�%�672�MH�QDMSUHM�SUHYODGRYDOR�SUHSULaDQMH��GD�ER
GUCDYLFD� ]DUHV� ]DCLYHOD�� ]DWR� VR� VNX^DOL� Y]SRVWDYLWL� aLP� PRaQHM^R� JRVSRGDUVNR
LQIUDVWUXNWXUR��NL�EL�ELOD�]PRCQD�VSUHMHWL�L]]LY�NDSLWDOLVWLaQHJD�JRVSRGDUVWYD��YHQGDU
WDNR�� GD� EL� YVDM� Y� QDMSRPHPEQHM^LK� YHMDK� SUHYODGRYDOR� GUCDYQR� ODVWQL^WYR�� .R� MH
YHGQR�EROM�ND]DOR��GD�V�VNXSQLP�JXYHUQHUMHP�QH�ER�QLa�LQ�ER�WUHED�672�UD]GHOLWL��VH
MH�VSUHPHQLOD�WXGL�SROLWLND��6ORYHQVNH�REODVWL�VR�VNX^DOH�FRQR�%�672�aLP�EROM� LQWH�
JULUDWL�Y�VORYHQVNL�JRVSRGDUVNL�SURVWRU�WHU�ML�RPRJRaLWL�KLWHU�UD]YRM��(GHQ�SUYLK�XNUH�
SRY� MH� ELOD� PRQHWDUQD� XQLMD� ]� -XJRVODYLMR�� *OHGH� JRVSRGDUVNH� SROLWLNH� WHU� FHOR
ERGRaH�XVRGH�&RQH�%�672�SD�MH���YVDM�SR�QHNDWHULK�SULaHYDQMLK� ��SULKDMDOR� WXGL�GR
UD]OLaQLK� SRJOHGRY� ORNDOQLK� REODVWL� Y� .RSUX�� VORYHQVNLK� REODVWL� Y� /MXEOMDQL� LQ
FHQWUDOQLK� REODVWL� Y�%HRJUDGX�� =YH]QH� REODVWL� QDM� EL� ELOH� SRG� WHCR� VSRUD� ]� ,QIRUP�
ELURMHP�QHNDM� aDVD� FHOR� SULSUDYOMHQH� QD� SRUDYQDYR� ]� ,WDOLMR�� WDNR� GD� EL� ML� RGVWRSLOH
.RSHU�LQ�^H�QHNDWHUD�R]HPOMD�Y�]DPHQR�]D�L]KRG�QD�PRUMH�LQ�UDILQHULMR�Y�#DYOMDK�SUL
7UVWX��7R�]DPLVHO�QDM�EL�NDVQHMH�RSXVWLOH��&RQR�%�MH�%HRJUDG�Y�LQYHVWLFLMVNL�SROLWLNL
XSR^WHYDO� HQDNR� NRW� UHSXEOLNH� LQ� MH� ELO� SULSUDYOMHQ� QHSRVUHGQR� ILQDQFLUDWL� QHNDWHUH
LQIUDVWUXNWXUQH�REMHNWH��QSU��FHVWQR�LQ�CHOH]QL^NR�SURJR�.RSHU���.R]LQD���6ORYHQVNH
REODVWL� VR� WHPX� L]� QDaHOQLK� UD]ORJRY� QDVSURWRYDOH�� NHU� VR� VH� ]DY]HPDOH� ]D� GHFHQ�
WUDOL]DFLMR� LQ� KRWHOH� VDPH� SUHY]HWL� VNUE� ]D� JRVSRGDUVNL� UD]YRM� QD� FHORWQHP� VOR�
YHQVNHP�R]HPOMX��3HURY^HN�����������������
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3R� GRORaLOLK�PLURYQH� SRJRGEH� MH� ELOD� ,WDOLMD� GROCQD� QD� R]HPOMX� 672� SUHSXVWLWL
GUCDYQD�SRGMHWMD�EUH]�RG^NRGQLQH��WDNR�GD�MH�Y�GUCDYQR�ODVW�672�SUH^OR�QHNDM�SRGMHWLM�
PHG� QMLPL� WXGL� VROLQH�� 1DFLRQDOL]DFLMD� VH� Y� FRQL� %� 672� QL� L]YDMDOD�� ]DWR� MH� ELOR
ODVWQL^WYR�UD]OLaQR��GHOQL^NH�GUXCEH��NDWHULK�JODYQL� ODVWQLN� MH�ELOD�*RVSRGDUVND�EDQND
]D�,VWUR��5HNR�LQ�6ORYHQVNR�SULPRUMH��SULYDWQD�SRGMHWMD��NDWHULK�ODVWQLNL�VR�ELOL�RGVRWQL�
LQ�SULYDWQD�SRGMHWMD�]�QDY]RaLPL� ODVWQLNL��3RGMHWMD�SD�VR�ELOD�YRGHQD�QD�FHQWUDOLVWLaQL
QDaLQ�SR�Y]RUX� MXJRVORYDQVNHJD�DGPLQLVWUDWLYQHJD�XSUDYOMDQMD�JRVSRGDUVWYD��%LOD�VR
SRG�QDG]RURP� LVWUVNHJD�RNURCQHJD� OMXGVNHJD�RGERUD��3R�SULNOMXaLWYL�&RQH�%�672�N
-XJRVODYLML� OHWD� ����� MH� MXJRVORYDQVND� ]YH]QD� YODGD� YSHOMDOD� MXJRVORYDQVNR
]DNRQRGDMR�� OH�QDFLRQDOL]DFLMD�VH� MH� L]YDMDOD�V�aDVRYQLP�]DPLNRP� �=DJUDGQLN�������
���������� 3UHGYVHP� SD� VH� MH� VORYHQVND� SROLWLND� RVUHGRWRaLOD� Y� JUDGQMR� .RSUD� NRW
QDGRPHVWQHJD� SULVWDQL^aD� ]D� 7UVW� LQ� Y� JUDGQMR� SURPHWQH� LQIUDVWUXNWXUH�� NL� QDM� EL
QDVWDMDMRaH�SULVWDQL^aH�SRYH]DOR�]�QRWUDQMRVWMR��WHU�Y�UD]YRM�VORYHQVNH�PRUQDULFH�

9�FRQL�$�672�MH�JHQHUDO�7��6��$LUH\�^H�QDSUHM�YRGLO�HQDNR�SROLWLNR�NRW�SUHM�Y�&RQL
$� -XOLMVNH� NUDMLQH��3UL�=DYH]QL^NL� YRMD^NL� XSUDYL� VR� GHORYDOH� JRVSRGDUVNH�PLVLMH� L]
-XJRVODYLMH�� ,WDOLMH� LQ� &RQH� %� 672�� NL� QDM� EL� XSUDYL� SRPDJDOH� XUHMDWL� JRVSRGDUVNH
SUREOHPH�� ,WDOLMDQVNL� VWUDQL� MH� =98� SUHSXVWLOD� XSUDYR� CHOH]QLF�� SR^WQH� VOXCEH� LQ
WHOHNRPXQLNDFLM�WHU�SRGDOM^DOD�YVH�WUJRYVNH�LQ�GUXJH�SRJRGEH��-XJRVORYDQVND�VWUDQ�VL
MH�VSUYD�SUL]DGHYDOD��GD�EL�GRVHJOD�HQRWHQ�JRVSRGDUVNL�SURVWRU��NDU�MH�ELOR�Y�QDVSURWMX�V
VWDOL^aL�=98��NL� MH� KRWHOR� GYH� ORaHQL� JRVSRGDUVNL� HQRWL� �$6�� ,�� �������=DUDGL� SDGFD
WUJRYLQH� LQ� LQGXVWULMH�VH� MH�=98� VUHaHYDOD�]�YHOLNR�EUH]SRVHOQRVWMR��&RQD�$�672� MH
LPHOD�RNURJ���������SUHELYDOFHY��GHOD]PRCQLK�MH�ELOR���������SUHELYDOFHY��RG�WHJD�MH
ELOR� EUH]SRVHOQLK� PHG� ��� LQ� ������� SUHELYDOFL�� =DYH]QLNL� VR� SUREOHP� UH^HYDOL� ]
MDYQLPL�GHOL�LQ�VRFLDOQLPL�SRGSRUDPL�SD�WXGL�]DSRVORYDQMHP�OMXGL�Y�XSUDYL��aHSUDY�MLK
GHMDQVNR�QLVR�SRWUHERYDOL��'ROJRURaQH�HNRQRPVNH�SROLWLNH�QLVR�QLWL�QDaUWRYDOL��WR�QDM
EL� ELOD�� IRUPDOQR� JOHGDQR�� QDORJD� QRYH� YODGH� 672��'HMDQVNR� SD� MH� XSUDYD� VNX^DOD
&RQR�$�672�aLP�WHVQHMH�SRYH]DWL�]�,WDOLMR���7X�QL�^OR�]JROM�]D�SUDJPDWL]HP��LWDOLMDQVND
YODGD�MH�=98�Y]GUCHYDOD���SDa�SD�WXGL�]D�SUHSULaDQMH��GD�ERVWD�REH�FRQL�SULSDGOL�,WDOLML�
=DWR�MH�=98�L]YDMDOD�LWDOLMDQVNH�PRQHWDUQH�LQ�GUXJH�SUHGSLVH���*HQHUDO�$LUH\�MH�SUHFHM
SULVSHYDO�N�W��L��WULVWUDQVNL�L]MDYL�)UDQFLMH��9HOLNH�%ULWDQLMH�LQ�='$�]�GQH�������������Y
NDWHUL� VR� WH�SUHGODJDOH��QDM� VH�FHORWQR�R]HPOMH�672�YUQH�SRG� LWDOLMDQVNR� VXYHUHQRVW�
6ORYHQVND�VWUDQ�MH�WDNL�SROLWLNL�QDVSURWRYDOD�LQ�VNX^DOD�WUCD^NR�JRVSRGDUVWYR�ORaLWL�RG
LWDOLMDQVNHJD��9HOLNR�QHYDUQRVW�MH�L]�LGHROR^NLK�UD]ORJRY�YLGHOD�Y�L]GDWQL�SRPRaL��NL�MR
MH�,WDOLMD�GRELYDOD�L]�0DUVKDOORYLP�QDaUWD���8QLaXMRaH�SRVOHGLFH��0DUVKDORYHJD�QDaUWD
QDM�EL�VH�SUHNR�,WDOLMH�SUHQD^DOH�Y�672��$6��,��������

'RNOHU�MH�^H�REVWDMDOR�XSDQMH��GD�ER�672�]DCLYHO��VR�QD�SRGODJL�QDWDQaQLK�DQDOL]
UD]PHU�RUJDQL�LQ�NRPLVLMH�VORYHQVNLK�SROLWLaQLK�RUJDQL]DFLM�L]GHORYDOL�JRVSRGDUVNH�LQ
ILQDQaQH�QDaUWH��6WURNRYQMDNL�Y�RGVHNX�]D� L]YHGHQFH�^WLULK�YHOHVLO�VR�]DVQRYDOL�JRV�
SRGDUVNR� LQ� ILQDQaQR� VWUXNWXUR�672�� NL� MH� WHPHOMLOD� QD� UD]YRMX� SULVWDQL^aD�� QMHJRYL
SRYH]DYL�]�]DOHGMHP��QD�UD]YRMX�LQGXVWULMH��GHORPD�WXGL�WXUL]PD�WHU�QD�EDQaQL^WYX�LQ
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]DYDURYDOQL^WYX�� 6ORYHQVNL� SROLWLNL� LQ� JRVSRGDUVWYHQLNL� VR� QDaUWRYDOL�� GD� ERGR� Y
672�� NR� ER� WD� ]DCLYHO� NRW� GUCDYD�� SRGSLUDOL� VDPRVWRMQR� JRVSRGDUVNR� SROLWLNR� SR
QDaHOX�JRVSRGDUVNH�QHRGYLVQRVWL��REHQHP�SD�VL�SUL]DGHYDOL�]D�aLP�WHVQHM^R�SRYH]DYR
]� -XJRVODYLMR�� 9HaLQD� VWUDWH^NR� SRPHPEQH� LQGXVWULMH� QDM� EL� RVWDOD� Y� GUCDYQL� ODVWL�
PDQM^D�SD�Y�SULYDWQL��9�HWDWL]DFLML�JRVSRGDUVWYD�VR�QDaUWRYDOFL�YLGHOL�HGLQR�PRCQRVW
]D�ERUER�]�DQJORDPHUL^NLP�NDSLWDORP�LQ�REHQHP�]D��UD]ELMDQMH�LWDOLMDQVNHJD�WDERUD��
V� aLPHU� QDM� EL� ORaLOL� �VUHGQML�� XUDGQL^NL� LQ� PDORPH^aDQVNL� VORM� RG� LWDOLMDQVNHJD
YHOHNDSLWDOD�� �$6�� ,�� ������� 1DMYHa� WHCDY� SUL� ]DJRWDYOMDQMX� WDNH� SROLWLNH� VR� SLVFL
QDaUWD�YLGHOL�QD�SRGURaMX�EDQaQL^WYD�LQ�]DYDURYDOQL^WYD��NMHU�MH�SUHYODGRYDO�LWDOLMDQVNL
LQ� WXML�NDSLWDO��9�VPLVOX� WDNH�SROLWLNH� MH� VORYHQVND�VWUDQ�SULSUDYLOD� WXGL�QDaUW�XVWDYH
672� �$6�� IRQG� %RULVD� .UDLJKHUMD��� =EUDOD� MH� SRGDWNH� R� VORYHQVNLK� R]�� MXJRVOR�
YDQVNLK�ODVWQLNLK�NDSLWDOD�Y�&RQL�$�672��,]KDMDMRa�L]�XJRWRYLWYH��GD�VR�JRVSRGDUVNH
SR]LFLMH�6ORYHQFHY�Y�ERGRaHP�672�]HOR�^LENH��MH�JODYQL�QDaUWRYDOHF�LQ�XVPHUMHYDOHF
VORYHQVNH� WUCD^NH� SROLWLNH� %RULV� .UDLJKHU� CH� YHa� PHVHFHY� SUHG� SRGSLVRP� SDUL^NH
PLURYQH� SRJRGEH� L]GHODO� QDaUW� VORYHQVNHJD� JRVSRGDUVNHJD� SURGRUD� Y� ERGRaR� VYR�
ERGQR�WUCD^NR�FRQR��6ORYHQVND�VWUDQ�QDM�EL�QDNXSLOD�SULPHUQH�REMHNWH� LQ�XVWDQRYLOD
JRVSRGDUVND� SRGMHWMD� Y� REOLNDK�� NDNU^QH� EL� GRSX^aDO� VWDWXW� ERGRaH� GUCDYLFH�� 0HG
QXMQLPL� LQVWLWXFLMDPL� EL� PRUDOD� ELWL� EDQND� ]� QDMPDQM� ���� PLOLMRQL� OLU� NDSLWDOD� LQ
ODGLMVND�GUXCED��SD�WXGL�SUHYR]QD��^SHGLFLMVND��WXULVWLaQD�LQ�GUXJD�SRGMHWMD��=D�]DaHWHN
LQYHVWLFLM� EL� ELOR� WUHED� ]EUDWL� ����PLOLMRQRY� OLU�� NDU� QDM� EL� GRELOL� ]ODVWL� L]� VUHGVWHY
REVWRMHaLK� VORYHQVNLK� WUJRYVNLK� GUXCE� &(17523520�D� Y� 7UVWX� LQ� 8,92'�� D
�XYR]QR�L]YR]QH�GUXCEH���$6��IRQG�%RULVD�.UDLJKHUMD��

>H� SUHG� NRQFHP� ^WLULGHVHWLK� OHW� MH� SRVWDOR� SRSROQRPD� MDVQR�� GD� V� 6YRERGQLP
WUCD^NLP� R]HPOMHP� NRW� VDPRVWRMQR� GUCDYR� QH� ER� QLa�� 6ORYHQVND� VWUDQ� MH� ]DWR� JRV�
SRGDUVNR�VWUDWHJLMR�SULODJRGLOD�QRYLP�UD]PHUDP�LQ�VNX^DOD�]DJRWRYLWL�YVDM�HNRQRP�
VNR� RVQRYR� 6ORYHQFHP�� CLYHaLP� Y� &RQL� $� 672�� =D� HQR� YDCQHM^LK� QDORJ� MH� LPHOD
XVWDQRYLWHY�VORYHQVNH�ILQDQaQH�XVWDQRYH��EDQNH�DOL�NUHGLWQHJD�]DYRGD��V�NDU�QDMRE�
VHCQHM^LPL� PRCQRVWPL� SRVORYDQMD�� 3UL]DGHYDQMD� ]D� XVWDQRYLWHY� EDQNH� VR� VH� ]DaHOD
OHWD�������QDaHOQR�VRJODVMH�SD�MH�=98�L]GDOD�WLN�SUHG�VYRMLP�NRQFHP��RNWREUD�����
�$6��IRQG�6='/���'D�MH�EDQND�R]��NUHGLWQL�]DYRG��VSUYD�RPHMHQ�OH�QD�SRVOH�Y�,WDOLML�
]DCLYHO�� MH� WUDMDOR� ^H� QHNDM� aDVD�� >H� GDOM� SD�� GD� VL� MH� VORYHQVND�PDQM^LQD� ]� ODVWQLPL
PRaPL� LQ� SRPRaMR� PDWLFH� SRQRYQR� XVWYDULOD� JRVSRGDUVNR� RVQRYR� �� 1MHQ� SRORCDM
�YNOMXaQR� ]� YSUD^DQMHP� PHG� REHPD� YRMQDPD� L]JXEOMHQHJD� SUHPRCHQMD�� QDM� EL� VH
UH^HYDO�Y�VNORSX�JOREDOQH�]D^aLWH�VORYHQVNH�PDQM^LQH�Y�,WDOLML��NRW� MH� WR�GRORaDO� ORQ�
GRQVNL�PHPRUDQGXP��7D�YSUD^DQMD�VR�ELOD�UH^HQD�OH�GHORPD��VDM���NRW�YHPR���]DNRQD
R� JOREDOQL� ]D^aLWL� 6ORYHQFL� Y� ,WDOLML� ^H� QLVR� GRaDNDOL�� 9� ]DGQMLK� OHWLK� JRVSRGDUVNR
RVQRYR� VORYHQVNLK� ]DPHMFHY�� NL� VR� VL� MR� V� WUXGRP� ]QRYD� SULGRELOL� Y� SUHWHNOLK� GH�
VHWOHWMLK�� SUHWUHVDMR� SUHFHM^QMH� WHCDYH�� =D� WR� VYRM� GHOHC� RGJRYRUQRVWL� QRVL� WXGL
6ORYHQLMD�� VDM� SR� RVDPRVYRMLWYL� L]� UD]OLaQLK� UD]ORJRY� �� PHG� QMLPL� EUH]EULCQRVW� LQ
QRWUDQMH�SROLWLaQH�UD]SUWLMH�QLVR�UDYQR�QD�]DGQMHP�PHVWX���QL�]QDOD�REOLNRYDWL�FHORYLWH
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SROLWLNH�GR�VYRMH�PDQM^LQH�
,WDOLMD�MH�WDNRM�SR�SUHY]HPX�&RQH�$�672�VSUHPHQLOD�SROLWLNR�RPHMHYDQMD�7UVWD�QD

SURYLQFLDOQR� VUHGL^aH�� 3ULVWDQL^aX� MH� SULVNUEHOD� SRPHPEQH� PHGQDURGQH� SRVOH� �OHWD
����� MH�CH� LPHOR�SURPHW�Y�YL^LQL����������� WRQ�� WHU�YDQM� LQYHVWLUDOD�YHOLND� VUHGVWYD
�WD�VR�OHWD�������WRUHM�^WLUL�OHWD�SR�SULNOMXaLWYL�N�,WDOLML��GRVHJOD�OHWQR�YVRWR����PLOLMDUG
OLU���3R�GRKRGNX�MH�ELO�7UVW�Y�]DaHWNX�^HVWGHVHWLK�OHW�QD�SHWHP�PHVWX��WDNRM�]D�QDMEROM
UD]YLWLPL� LWDOLMDQVNLPL� LQGXVWULMVNLPL�PHVWL�� �$6�� IRQG� 6='/��� 7RGD� VWDUH� VODYH� QH
7UVW�LQ�QH�QMHJRYR�]DOHGMH�Y�NDVQHM^LK�GHVHWOHWMLK�QLVWD�YHa�GRCLYHOD��1LVR�MH�SULQHVOH
QH�GUCDYQH�VXEYHQFLMH�LQ�QH�PQRCLFH�MXJRVORYDQVNLK�NXSFHY��NL�VR�VH�Y�KODVWDQMX�SR
FHQHQHP� EODJX� ]JULQMDOL� QD� 3RQWHURVVR�� 6ORYHQLMD� VL� MH� ]JUDGLOD� VYRMH� SULVWDQL^aH� Y
.RSUX� LQ� MH�7UVWX� �Y� VRaDVQL�NRQNXUHQFL� ]�5HNR�� Y]HOD� YHOLN� GHO� QHNGDQMH� VUHGQMH�
HYURSVNH�YORJH��0HMD���aHSUDY�SRVWRSRPD�]QRYD�RGSUWD���WHU�LGHROR^ND�LQ�QDFLRQDOQD
QDVSURWMD�VR�Y�HNRQRPVNR�CLYOMHQMH�]DUH]DOD�JORERNH�VOHGL��6NXSQHJD�HNRQRPVNHJD
SURVWRUD�� ]QDaLOQHJD� ]D� GHYHWQDMVWR� VWROHWMH�� Y� GYDMVHWHP� QL� ELOR� YHa� PRJRaH� SR�
SROQRPD� VHVWDYLWL� VNXSDM��$OL� ER� QRYD� HYURSVND� XUHGLWHY� Y� HQDLQGYDMVHWHP� VWROHWMX
RPRJRaLOD�� GD� ERGR� QDVSURWMD� SUHVHCHQD� LQ� GD� ER� QHNRa� JRVSRGDUVNR� FYHWRaH
REPRaMH� �� PRUGD� NRW� PRVW� PHG� 6UHGR]HPOMHP� WHU� 6UHGQMR� LQ� 9]KRGQR� (YURSR� �
]DCLYHOR� Y� YHaNXOWXUQRVWL�� VRGHORYDQMX� LQ� ]GUDYL� WHNPRYDOQRVWL�� SD� �� YVDM� ]D� VNHS�
WLaQHJD�]JRGRYLQDUMD���RVWDMD�RGSUWR�YSUD^DQMH�

6/29(1,$1�:(67(51�%25'(5�$1'�7+(�48(67,21�2)�(&2120<

%RCR�5(3(
8QLYHUVLW\�RI�/MXEOMDQD��'HSDUWPHQW�RI�+LVWRU\��6,������/MXEOMDQD��$^NHUaHYD��

6800$5<
7KH�WH[W�GHDOV�ZLWK�HFRQRPLF�SROLF\�LQ�WKH�*LXOLD�UHJLRQ�LQ�WKH�SHULRG�RI�<XJRVODY

RFFXSDWLRQ�DW�WKH�HQG�RI�:RUOG�:DU�,,��DW� WKH� WLPH�ZKHQ�WKLV�SDUW�RI� WKH�ZRUOG�ZDV
GLYLGHG� LQWR� ]RQHV� $� DQG� %� RI� WKH� *LXOLD� UHJLRQ� DQG� ]RQHV� $� DQG� %� RI� WKH� )UHH
7HUULWRU\�RI�7ULHVWH�� ,W� VKRZV�KRZ� WKH�GLYLVLRQV�DQG� LGHRORJLFDO�FRQIOLFWV� LQIOXHQFHG
WKLV�RQFH�XQLWHG�HFRQRPLF�DUHD�

7KH� DXWKRU� DOVR� GHDOV� ZLWK� WKH� HFRQRPLF� SROLF\� RI� WKH� VLGHV� LQYROYHG� LQ� WKH
GHFDGH� DIWHU� :RUOG� :DU� ,,�� WKH� $OOLHG� 0LOLWDU\� $GPLQLVWUDWLRQ�� 7KH� 6ORYHQLDQV
�<XJRVODYV��DQG�WKH�,WDOLDQV�

,Q� WKH� HFRQRPLF� DUHD� WKH� $OOLHG� 0LOLWDU\� $GPLQLVWUDWLRQ� FRQFHQWUDWHG� RQ
SURYLGLQJ�IRU�WKH�SHRSOH��SUHYHQWLQJ�FRQWDJLRXV�GLVHDVHV�DQG�DVVXULQJ�VRFLDO�VWDELOLW\
LQ�]RQH�$�WKH�RI�*LXOLD�UHJLRQ�DQG�]RQH�$�RI�WKH�)UHH�7HUULWRU\�RI�7ULHVWH��,W�DOORZHG
DQG�HQFRXUDJHG�FRQQHFWLRQV�ZLWK�WKH�,WDOLDQ�HFRQRP\�DQG�XVHG�,WDOLDQ�ODZV��,W�WULHG
WR�VHSDUDWH�]RQH�$�IURP�]RQH�%�DV�PXFK�DV�SRVVLEOH�E\�WKH�SROLF\�RI�WZR��HFRQRPLF

���
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XQLWV��� 7KH� ,WDOLDQ� JRYHUQPHQW� LQWHQWLRQDOO\� OHIW� ]RQH� $� WR� OHDG� D�PLVHUDEOH� OLIH� WR
SURYH� WKDW� LW� FRXOG� QRW� VXUYLYH�ZLWKRXW� OLQNV�ZLWK� ,WDO\� DQG� DIWHU� WKH� DQQH[DWLRQ� RI
]RQH�$�RI�WKH�)77�LQ������LW�PDGH�ELJ�LQYHVWPHQWV�LQ�7ULHVWH�

7KH�6ORYHQLDQ�VLGH�ZDQWHG� WR�HFRQRPLFDOO\� OLQN�]RQH�%�RI� WKH�)UHH�7HUULWRU\�RI
7ULHVWH� DQG� ]RQH� %� RI� WKH�*LXOLD� UHJLRQ�ZLWK� 6ORYHQLD� DQG� <XJRVODYLD� DV�PXFK� DV
SRVVLEOH�� EHDULQJ� LQ�PLQG� WR� FRPSO\�ZLWK� LQWHUQDWLRQDO� OHJLVODWLRQ� ZKLOH� PDQDJLQJ
,WDOLDQ� DQG� RWKHU� IRUHLJQ� SURSHUW\� XQWLO� WKLV� TXHVWLRQ� ZDV� QRW� VHWWOHG� ZLWK
LQWHUQDWLRQDO�DQG�ELODWHUDO�WUHDWLHV��,Q�]RQH�$�RI�WKH�*LXOLD�UHJLRQ�DQG�]RQH�$�RI�WKH
)UHH�7HUULWRU\�RI�7ULHVWH��WKH�6ORYHQLDQV�DW�ILUVW�WULHG�YHU\�KDUG�WR�PDNH�)77�OLYH�DV
RQH�XQLW� DQG� WR�KDYH�D� VROLG� HFRQRPLF�EDVLV��7KH� HFRQRP\�ZDV� WR�EH� EDVHG� RQ� DOO
IRUPV�RI�SURSHUW\��EXW�WKH�LQGHSHQGHQFH�RI�HFRQRP\��DQG�VWDWH��ZDV�WR�EH�DVVXUHG�E\
PDLQO\�VWDWH�SURSHUW\�DW�OHDVW�LQ�WKH�PRVW�LPSRUWDQW�HFRQRPLF�EUDQFKHV��,W�ZDV�WR�EH
OLQNHG�ZLWK�<XJRVODYLD�DQG�ZLGHU�(XURSHDQ�DUHD��7KH�HFRQRP\�ZDV�WR�EH�EDVHG�RQ
WUDQVSRUW��SRUW�DFWLYLW\���EDQNLQJ��LQVXUDQFH��LQGXVWU\�DQG�WUDGH�

$IWHU�UHDOL]LQJ�WKDW�WKH�)77�ZLOO�QRW�EH�DEOH�WR�OLYH�DV�D�VWDWH��WKH�6ORYHQLDQ�VLGH
ZDQWHG�WKH�PLQRULW\�WR�UHJDLQ�EXVLQHVV�RUJDQL]DWLRQV��ZKLFK�ZHUH�ORVW�LQ� WKH�SHULRG
EHWZHHQ�WKH�WZR�ZDUV�DQG�GXULQJ�WKH�ZDU��DQG�WR�VWUHQJWKHQ�HFRQRPLFDOO\�

$IWHU� VROYLQJ� WKH� ERUGHUOLQH� TXHVWLRQ� LQ� ������ WKH� ERUGHU� EHWZHHQ� ,WDO\� DQG
<XJRVODYLD�ZDV�JUDGXDOO\�RSHQLQJ�DQG�LW�EHFDPH�WKH�PRVW�RSHQ�ERUGHUOLQH�EHWZHHQ
VRFLDOLVW�DQG�FDSLWDOLVW�FRXQWULHV�LQ�(XURSH��(FRQRPLF�FR�RSHUDWLRQ�ZDV�DOVR�JRRG�

'HVSLWH�WKLV��WKH�IRUPHU�MRLQW�HFRQRPLF�DUHD�ZDV�UHVWRUHG�RQO\�SDUWLDOO\��7KLV�WDVN
UHPDLQV�D�FKDOOHQJH�IRU�WKH�QH[W�PLOOHQQLXP�

9,5,�,1�/,7(5$785$
$6�,���$UKLY�6ORYHQLMH��/MXEOMDQD��'LVORFLUDQD�HQRWD�,��IRQG�%RULVD�.UDLJKHUMD������

*RVSRGDUVND� SHQHWUDFLMD� Y� WUCD^NR� VYRERGQR� FRQR�� EUH]� GDWXPD� LQ� SRGSLVD� V
SULORCHQR�GHSH^R�8'%�H���������������%RULVX�.UDLJKHUMX��GD�VH�.DUGHOM�VWULQMD�]
HNRQRPVNLP�QDaUWRP�LQ�SUDYL��GD�MH�WUHED�WDNRM�SULVWRSLWL�N�QMHJRYL�UHDOL]DFLML�

$6�,��IRQG�%RULVD�.UDLJKHUMD�������8VWDYD�VYRERGQHJD�WUCD^NHJD�R]HPOMD�
$6�,��IRQG�3122��^NDWOD�����S��N�LQ�������D��3UHJOHG�QDMYDCQHM^LK�XNUHSRY�QD^LK�LQ

]DYH]QL^NLK�SURWL�QDP�XSHUMHQLK�XNUHSRY�QD�JRVSRGDUVNHP�SROMX��7UVW�����PDUHF
������ 3RNUDMLQVNL� QDURGQRRVYRERGLOQL� RGERU� ]D� 6ORYHQVNR� SULPRUMH� LQ� 7UVW�
JRVSRGDUVNR�SROLWLaQD�NRPLVLMD�

$6� ,�� IRQG� 3122�� ^NDWOD� �� S�� N�� ���� ��D�� 3RURaLOR� R� XSUDYL� DQJOR�DPHUL^NHJD
SRGURaMD�6YRERGQHJD�WUCD^NHJD�R]HPOMD�RG�����VHSWHPEUD�GR�����GHFHPEUD������
VHVWDYLO� JHQHUDOQL� PDMRU� 7�� 6�� $LUH\�� SRYHOMQLN� DQJOR�DPHUL^NHJD� SRGURaMD
6YRERGQHJD�WUCD^NHJD�R]HPOMD�

$6�,��IRQG�3122��^NDWOD��F��H��.RQFHSW�RFHQH�JRVSRGDUVNHJD�SRORCDMD��RVQXWHN����
���������EUH]�SRGSLVD�
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$6�� IRQG� 3122�� ��� ��D�� ��E�� $QNHWD� R� YSUD^DQMX� LQWHUQDFLRQDOL]DFLMH� WUCD^NHJD
SULVWDQL^aD��EUH]�GDWXPD�

$6�,�� IRQG�3122��^NDWOD���E����F��*RVSRGDUVND� LQ� ILQDQaQD�VWUXNWXUD�672��2GVHN
]D�L]YHGHQFH�^WLULK�YHOHVLO��EUH]�GDWXPD�

$6�,�� IRQG�3122�� ^NDWOD���E����F��3RGDWNL�R� HYHQW�� LQYHVWLFLMDK�Y�&RQL�$� V� VWUDQL
]DYH]QLNRY��JRVSRGDUVNR���SROLWLaQD�NRPLVLMD�SUL�3122��7UVW�����DSULOD������

$6�� IRQG� 6='/� $(� ������������ 2IILFH� RI� WKH� 0LOLWDU\� *RYHUQRU� %ULWLVK�8QLWHG
6WDWHV� =RQH�� )UHH� 7HUULWRU\� RI� 7ULHVWH�� SLVPR� GU�� )UDQFX� 7RQaLaX�� ���� RNWREHU
�����

$6�� IRQG� 6='/�� ^NDWOD� ������$(� ������������.RPLVLMD� ]D� QDURGQH�PDQM^LQH�*2
6='/�6ORYHQLMH��1HNDWHUL�HOHPHQWL�SRORCDMD�VORYHQVNH�QDURGQH�PDQM^LQH�Y�,WDOLML
Y�OHWX�������IHEUXDU������

AHSLa��=�� ��������$JUDUQD� UHIRUPD� LQ�NRORQL]DFLMD�Y�6ORYHQLML� �����������2E]RUMD
0DULERU�

*RPEDa��%��0����������6ORYHQLMD��,WDOLMD��2G�SUH]LUDQMD�GR�SUL]QDQMD��%HOD�NQMLJD�R
GLSORPDWVNLK�RGQRVLK��/MXEOMDQD��'HERUD�

3$.���3RNUDMLQVNL�DUKLY�.RSHU��2NUDMQL�/2�.RSHU��^NDWOD�������3UDYQD�LQ�SROLWLaQD
RVQRYD�SUDYQHJD�UHGD�Y�FRQL�%�

3$.��9RMD^ND� XSUDYD� -$�� ^NDWOD� ��� ,PRYLQVNR�SUDYQH� REYH]H� ,WDOLMH� GR� FRQH� %� LQ
SRPRa� WHU� LPRYLQVNR�SUDYQL� RGQRVL� -XJRVODYLMH� JOHGH� QD� WHULWRULM�� .RSHU� ���� ��
�����

3$.��9RMD^ND�XSUDYD�-$��^NDWOD����1DMYDCQLMD� LPRYLQVNR�SUDYQD�SLWDQMD�NRMD�VX�VH
UMH^DYDOD�X�]RQL��%��

3$.�� 9RMD^ND� XSUDYD� -$�� ^NDWOD� ��� 3RURaLOR� PLQLVWUVWYX� ]D� ]XQDQMH� ]DGHYH� Y
%HRJUDG�]�QDVORYRP�'RVWDYOMDPR�9DP�L]YH^WDM�SR�SLWDQMLPD�QDYHGHQLP�X�$LGH�
PHPRLUH�SRVODQLND�5��,��0DUWLQL�D��EUH]�GDWXPD�LQ�SRGSLVD�

3HURY^HN�� )�� �������� 0RMD� UHVQLFD� �� GUXJD� GRSROQMHQD� L]GDMD�� 'UX^WYR� SLVFHY
]JRGRYLQH�12%�6ORYHQLMH��$UWLV�.RSHU�

3ULQaLa�� -�� �������� 1DFLRQDOL]DFLMD� QD� R]HPOMX� /5� 6ORYHQLMH� ����������� 1RYR
PHVWR��'ROHQMVND�]DORCED�

7URKD��1�� ��������2ULV�SRORCDMD�Y�NRSUVNHP�RNUDMX� FRQH�%� -XOLMVNH�NUDMLQH�Y� OHWLK
�����������3ULVSHYNL�]D�QRYHM^R�]JRGRYLQR�;;;9,�

=DJUDGQLN��0����������1DFLRQDOL]DFLMD�LQGXVWULMVNLK�SRGMHWLM�Y�6ORYHQVNHP�SULPRUMX
LQ� VORYHQVNL� ,VWUL��9LUL� ]D�QDFLRQDOL]DFLMR� LQGXVWULMVNLK�SRGMHWLM� Y�6ORYHQLML� SR� ��
VYHWRYQL�YRMQL��9LUL�^W�����/MXEOMDQD��$UKLYVNR�GUX^WYR�6ORYHQLMH�

���


